Written Division- Answers

Key Stage 2: 2003 Paper A

1.
19 Award TWO marks for the correct Up to
answer of 50 2m
If the answer is incorrect, award ONE Calculation must be performed for
mark for evidence of appropriate the award of ONE mark.

working using common units, eg

1500 + 30 = wrong answer Do not accept 1.5 + 30 as evidence
of appropriate working.

Key Stage 2: 2003 Paper A
2.
22 20 im

Key Stage 2: 2005 Paper A
1.



Key Stage 2: 2007 Paper A

1.




Key Stage 2: 2006 Paper A

1.

Key Stage 2: 2008 Paper A

1.
Key Stage 2: 2009 Paper A
1



Key Stage 2: 2011 Paper A

1.

21

Award TWO marks for the correct answer of 17

If the answer is incorrect, award ONE mark for
evidence of appropriate working which contains no
more than ONE arithmetical error, eq:

B repeated addition/subtraction methods, eg
544

-320 10x 32

224
-160 5x 32

&4
-64 2% 32

0 wrong answer

B repeated halving, ag

544 + 2 =272
272+2=136
136+2=268
68 +2=34

34 + 2 = wrong answer

B fraction method, eg

244 136 34
F7 = g = T T Wrong answer

B short division algorithm

wmng answer
12 |5 4%

B |ong division algarithm
Wrong answer
3z I 544
320
224
-2
0

Key Stage 2: 2012 Paper A

1.

14

24

Up te 2m

1m

I all cases accept follow-through of ONE error in
working.

Working must be carried through to reach an
answer for the award of ONE mark.

De not award any marks if the final answer is
missing.

Mariations on algorithms are acceptable, provided

they reprasent a viable and complete methad.

MNe mark is awarded for repeated addition/
subtraction/halving the wrang number of times.

Short division methods must be supported
by evidence of appropriate carrying figures to
indicate use of a division algorithm.



Key Stage 2: 2013 Paper A

1.

19

Award TWO marks for the correct answer of 34

If the answer is incorrect, award ONE mark for
evidence of appropriate working which contains
no maore than ONE arithmetical error, eq:

m repeated addition/subtraction methods, eg

816
240 10x24
576
240 10x24
336
240 10x24
9%

48 2x24
48
48 2 x24

0 wrong answer
m factor/multiple methods, eg
816 +8=102
102 = 3 = wrong answer
m short division algorithm
Wrong answer

24| 816

m long division algorithm

Wrong answer
24 | B16
-720
96
926
0
m fraction method

%‘aﬂ—: Ezz—gi:wmnganswer

Up to 2m

In all cases accept follow-through of ONE eror
in working.

Working must be carried through to reach
an answer for the award of ONE mark.

Variations on algorithms are acceptable, provided

they represent a viable and complete method.

Do not award any marks if the final answer
is missing.

No mark is awarded for repeated addition/
subtraction the wrong number of times.

Short division methods must be supported
by evidence of appropriate carrying figures
to indicate use of a division algorithm.



Key Stage 2: 2015 Paper B

1.
19 Award TWO marks for the correct answer of 26 Up to 2m
If the answer is incorrect award ONE mark for Working must be carried through to reach an
evidence of appropriate working which contains answer for the award of ONE mark.
B o0 In all cases, accept follow-through of ONE error
m Long divisional algorithm in working.
Variations on algorithms are acceptable, provided
a6 [w% they represent a viable and complete method.
-720 Do not award any marks if the final answer is
216 missing.
-216
0
m Short division algorithm Short division methods must be supported
by evidence of appropriate carrying figures
I“i'ﬂ%ga"ﬂ to indicate use of division algorithm and be a
36| 9376 complete method.
m Repeated addition/subtraction methods, eg No mark is awarded for addition/subtraction the
wrong number of times.
936
-360 10x36
576
-360 10x36
216
-216  6x36
wrong answer
m Factorisation methods, eg
936 = 9=104
104 = 4 = wrong answer
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
1.
6 8 im
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
2.
11 | 70 im
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
3.
16 | 120 im

Question 16 commentary: Pupils are expected to use their knowledge of table facts to answer this question.

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

4.

21

1501

im




Key Stage 2: 2016 Paper 1 Arithmetic - Sample

5.

Award TWO marks for the correct answer
of 232

If the answer is incorrect, award ONE mark
faor the formal methods of division which
contains no more than ONE arithmetical
error, e.g.

* long division algorithm

Wrong answer

13| 3016
26
41
- 39
26
- 26
0

= short division algorithm
wrong answer

13|3 01’6

Upto

Working must be carried through to reach
an answer for the award of ONE mark.

Do not award any marks if the final
(answer) line of digits is missing.

Short division methods must be supported
by evidence of appropriate carrying
figures to indicate the use of a division
algorithm, and be a complete method.

Question 25 commentary: Two marks are awarded for the correct answer. However, if the answer is incorrect, one
mark can only be awarded if the pupil has used one of the formal methods of long or short division. An appropriate

carrying figure in short division must be less than 13 in this instance.

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

6.

34

Award TWO marks for the correct answer of
63

If the answer is incorrect, award ONE mark
for the formal methods of division which
contain no more than ONE arithmetical error,
e.q.

* long division algorithm

wrong answer
37[2331
- 222
111
- 111
0

* short division algorithm
wrong answer

37|233™

Up to

Working must be carried through to reach
an answer for the award of ONE mark.

Do not award any marks if the final
(answer) line of digits is missing.

Shaort division methods must be supported
by evidence of appropriate carrying
figures to indicate the use of a division
algorithm, and be a complete method.




Key Stage 2: 2016 Paper 1 Arithmetic

1.

3 | 326 im
Key Stage 2: 2016 Paper 1 Arithmetic
2.

6 | 19 im
Key Stage 2: 2016 Paper 1 Arithmetic
3.

9 | 24 1im
Key Stage 2: 2016 Paper 1 Arithmetic
4,

15 | 162 1m
Key Stage 2: 2016 Paper 1 Arithmetic
5.

20 | 0.09 1m
Key Stage 2: 2016 Paper 1 Arithmetic
6.

22 | 110 1m




Key Stage 2: 2016 Paper 1 Arithmetic

7.

28

Award TWO marks for the correct answer
of 25

If the answer is incorrect, award ONE mark
for the formal methods of division with no
more than ONE arithmetical error, i.e.

* long division algorithm, e.g.

25r2

29| 725

- _580

145

- 118
31 (error)

- 29

2

(20 x 29)
(4 x 29)

(1 x 29)

OR
24 (error)
29| 725
-_88
145
- 145
0

(2 x 29)
(5 x 29)
* short division algorithm, e.g.

2 6 (erron
29| 72"5

Up to

Working must be carried through to reach
a final answer for the award of ONE mark.

Shaort division methods must be supported
by evidence of appropriate carrying figures
to indicate the use of a division algorithm,
and be a complete method. The carrying
figure must be less than the divisor.




Key Stage 2: 2016 Paper 1 Arithmetic

8.
32 | Award TWO marks for the correct answer Up to
of 26 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for the formal methods of division with no a final answer for the award of ONE mark.
more than ONE arithmetical error, i.e.
* |ong division algorithm, e.g.
28r14
4301118
- 645 (15 x 43)
573 (error)
- 430 (10 x 43)
143
- 129 (3x43)
14
OR
25r23
4311118
- 88 {error) (2 x 43)
238
- 215 (5 x 43)
23
* short division algorithm, e.g. Short division methods must be supported
2 5 (error) bylevildenca of appmpria}g {:_arrying f!gures
= to indicate the use of a division algorithm,
43{11178 and be a complete method. The carrying
figure must be less than the divisor.
Key Stage 2: 2017 Paper 1 Arithmetic
1.
4 | 505 im
Key Stage 2: 2017 Paper 1 Arithmetic
2.
9 | 8 im

Key Stage 2: 2017 Paper 1 Arithmetic

3.

17

83

1m




Key Stage 2: 2017 Paper 1 Arithmetic

4,
18 | 0.004 1m
Key Stage 2: 2017 Paper 1 Arithmetic
5.
20 | Award TWO marks for the correct answer Up to
of 42 2m

If the answer is incorrect, award ONE mark
for a formal method of division with no more
than ONE arithmetic error, i.e.

* long division algorithm, e.g.

42 r2
17| 714
- B8O
36 (error)
= 24

2

(40 x 17)

@x17)

OR

43 (error)
17[ 714
- B30

34
- B34

0

(40 x 17)

2 x17)

= short division algorithm, e.g.

41r7
17] 71°4 {error in carrying digit)

Working must be carried through to reach
a final answer far the award of ONE mark.

Short division methods must be supported
by evidence of appropriate camrying figures
to indicate the use of a division algorithm,
and be a complete method. The carrying
figure must be less than the divisor.




Key Stage 2: 2017 Paper 1 Arithmetic

6.
36 | Award TWO marks for the correct answer Up to
of 38 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for a formal method of division with no more a final answer for the award of ONE mark.
than ONE arithmetic error, i.e.
= |ong division algorithm, e.g.
38 r2
58| 2242
- 1770 {30 x 59)
474 (error)
- 472 (8 x 59)
2
OR
35 (error)
59| 2242
- 1770 (30 x 59)
472
- 472 (8 x 59)
0
= short division algorithm, e.g. Short division methods must be supported
by evidence of appropriate carrying figures
3 7r48 (error) to indicate the use of a division algerithm,
59| 224%2 and be a complete method. The carrying
figure must be less than the divisor.
Key Stage 2: 2017 Paper 3 Reasoning
1.
1 10 im
Key Stage 2: 2018 Paper 1 Arithmetic
1.
4 838 1im
Key Stage 2: 2018 Paper 1 Arithmetic
2.
5 |9 im

Key Stage 2: 2018 Paper 1 Arithmetic

3.

11

90

im




Key Stage 2: 2018 Paper 1 Arithmetic

4.
12 | 600 1m
Key Stage 2: 2018 Paper 1 Arithmetic
5.
13 | 4 im
Key Stage 2: 2018 Paper 1 Arithmetic
6.
18 | 0.001 im | Accept equivalent fractions, e.g. -1 _
1000
Key Stage 2: 2018 Paper 1 Arithmetic
7.
29 | Award TWO marks for the correct answer Up to
of 15 2m

If the answer is incorrect, award ONE mark
for a formal method of division with no more
than ONE arithmetic error, i.e.

* long division algorithm, e.g.

14  (error)
43| 645
- 430
215
- 215
0

OR

15 r28
43| 645
- 430
215
- 129
114 (error)
- 86

28

10 x 43

3 x 43

2x43

* short division algorithm, e.g.

1 513 (error)
43| 64°'5

Working must be carried through to reach
a final answer for the award of ONE mark.

Short division methods must be supported
by evidence of appropriate carrying figures
to indicate the use of a division algorithm,
and be a complete method. The carrying
figure must be less than the divisor.




Key Stage 2: 2018 Paper 1 Arithmetic

8.
36 | Award TWO marks for the correct answer Up to
of 91 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for the formal methods of division with no a final answer for the award of ONE mark.
more than ONE arithmetic error, i.e. ) , .
— 2 Sometimes an error in calculation leads to
* long division algorithm, e.g. a remainder which equals the truncated
decimal equivalent. In such cases when
81 (error) the remainder is expressed as a decimal,
97| 8827 evidence of working leading to the
- 8730 decimal must be seen in order to condone
a7 the possible notation error. (See General
- a7 Marking Principle 13, page 8.)
0
OR
91 r2
97| 8827
- 7760 80 = 97
1069 (error)
- 970 10 x 97
99
- 97 1 =97
2
* short division algorithm, e.g. Short division methods must be supported
by evidence of appropriate carrying figures
7 1 (error) to indicate the use of a division algorithm,
97| 882°7 and be a complete method. The carrying
figure must be less than the divisor.
Key Stage 2: 2019 Paper 1 Arithmetic
1.
7 60 1m
Key Stage 2: 2019 Paper 1 Arithmetic
2.
8 10 1m

Key Stage 2: 2019 Paper 1 Arithmetic

3.

10

13

im




Key Stage 2: 2019 Paper 1 Arithmetic

4.

13 | 110 1m
Key Stage 2: 2019 Paper 1 Arithmetic
5.

20 | 0.009 im
Key Stage 2: 2019 Paper 1 Arithmetic
6.

25 | Award TWO marks for the correct answer Up to

of 24 2m

If the answer is incorrect, award ONE mark
for the formal methods of division with no
more than ONE arithmetic error, i.e.

* |ong division algorithm, e.g.

23r29
37|888
- 740
140 (error)
-1
29

OR

42 (error)
37|888
- 740 20 x 37
148
- 148 4 x 37
0

* short division algorithm, e.g.

2 3 r27 (error)
37|88"'8

Working must be carried through to reach
a final answer for the award of ONE mark.

Short division methods must be supported
by evidence of appropriate carrying figures
to indicate the use of a division algorithm,
and be a complete method. The carrying
figure must be less than the divisor.




Key Stage 2: 2019 Paper 1 Arithmetic

7.

36

Award TWO marks for the correct answer
of 97

If the answer is incorrect, award ONE mark
for the formal methods of division with no
more than ONE arithmetic error, i.e.

= |ong division algorithm, e.g.

96 r82
83| 8051
- 7470

580 (error)
- 498

82

OR

47 (error)
83| 8051
- 4150
3901
- 3320
581
581
0

50 x 83

40 x 83

7 =83

* short division algorithm, e.g.

9 6r73

83| 8051 (error)

Up to

Working must be carried through to reach
a final answer for the award of ONE mark.

Short division methods must be supported
by evidence of appropriate carrying figures
to indicate the use of a division algorithm,
and be a complete method. The carrying
figure must be less than the divisor.




